
Problem No. – 4 Solution

1) Time Ratio = 1:5 Interest on Purchase Price 
Pre = 600
Post = 300

Profit or Loss 
Pre Loss = 468
Post Profit = 20,548



    Pre                                 Post
  J      F      M      A      M     J        JU      A     S   O   N    D
  ½       ½       1         1          1       1           1          1       1      1     1      1 
     = 1                                               = 10

Pre Total = 1  :  Post Total = 10
     1 : 10

Sales for first two months are half of the average 

2) Sales Ratio = 1:10
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